EARAROBREBRT —5 XN—ZXBISH—F 2023598168 (£) 4EHLI3H

I EHEER 2B SR YSR3ImEL BEE] E2 ‘(9&1&} - ‘I%EH?’JF&] ~ | = 10000 =
(AES] 1% 15,500,000 F§ ~ 2 % :6,200,000 [§ ~ 3 7 :3,900,000 [§ ~ 4 7% :2,300,000 § ~ 5 7 : 1,550,000 [

= RS/ i #E | BF (FB) [944 (B | BBIEN | E3F |8 [ AS | B | BRE @R / 5 / £EKS
4| N Z—Zv i3 | pEe= 1:34.5 323 |34.3]98.6 | 4 | 468 g§§é¥§>

(=) (-8)

RIFAUAYRA NUFY b B:YIF—Zv [Epe]

o079 % 4 g%ublﬁtEE 1:34.5 T={=1 346|976 | 3 036 | PIREE (EH)

9 ZE) © | ® FrOvbor—n
RIE-UR BPIL—L

& | %
1
2|8
R L LN
~ ) RMA— % 4 | J. EUAS 1:34.5 5-6-5 | 34.1| 98.7 | 1 M4 | BREEA (EH)
3)2|7 | X FA—® %.0 N R
RN=VIS34 B:YXVKRsS /=Y Tr—LA
~ )5 = ft 4 | EHSE 1:34.6 3-4-3 (343 97.5| 5 456 | BESF (FER)
4By 3| PV —FES 5.0 e () | LEEE
511
6|8
7
8
915

R:PFT709— B:ITIW—RYRP—Y N1 ]
= 4t 4 | ERBAR 1:34.6 5-7-7  |34.0] 97.7 | 6 490 | THIEEZ &R
1 [JL=xRA b 5.0 \F) Ga) | TRWT A
RPAUAYRA MIFy b B:HYYF—=21-X F—L— TNV - T7—LERE
=0 . e 3 | ENEEE :34. -~ . . EEE— (ER)
8|7 Sr—IF 45 54.0 1(33/‘1:1)7 SRR Rl el B (4_4‘8 IBEHE
RPN/ FAVEYR B:RIFRE— e
R PlEEX 134, -7~ . . EEBS ()
2 |[L=PRre5FLY e 6% Gey | TP R seme
RE-UR B:L—IFRD—) I8V Tr—L
= =~ s J\IhSEEG :35. -9~ . . RS (X8
6| SFTSVRYR it 6 e (11315/‘?) 9-9-9 [34.1] 93| 9 ff) i jiﬁﬁE
R:FAIATv— B:ATLYI— Bl &
—A s 4 | BYEES 1:35.2 7-4-5 349|8.9| 8 476 | SAARIEKRER ()
5 I:l)bju:l. oal” B 56.0 (1 1/4) (-5 |EASH
R:FAIRATv— B:LZ5— #HBET7—L
[ BN
En'y 46.5-34.6

NOVIA L | 12.7-11.6-11.8-11.9-11.9-11.7-11.6-11.3

® 1—F—EBIRfL
13— —
20—7F— [9.83.4(1.7) 2,56
30—7F— 98,4 3,5701,26
43—7F— [9.8(3,4) (7,5 (1,26

o L RE
& s 4 860 | | DA R 4-9 680F3 | | # &= 4-8 1,770 | | 3E& 4-7-9 1,630MH
& B 4 220M 4-7 450 | | RS = 4-9 1,950 | | 3:&=& 4-9-7 15,020M
9 170 7-9 30| | BB 4-9 4,630M
7 140M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



